1) To calculate the bias in Northern Hemisphere:

(i.e. effect of SH land distribution on NH climate response)
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Two expeﬁmé‘ﬁf“s’z}aré run: (A)Real world (B) I\Forth-sthmetric wc;rld

Climate response in the Northern Hemisphere in (A) and (B) are different.

This difference in climate response (bias) is caused due to the different land distribution in the
Southern Hemisphere in experiments (A) and (B).

» Thus, LHByorm-nemisprere = Climate response of NH in (A) —climate response of NH in (B)
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2) Now, if we try using South-symmetric world to calculate the bias in NH: NH is different!
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From the above, it should be clear why we cannot use Sou;};:gi/mmetric model to calculate the bias
for Northern Hemisphere.



2) To calculate the bias in Southern Hemisphere:

(i.e. effect of NH land distribution on SH climate response)
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(Hemisphere being
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Two experiments are run: (A)Real world (C) South-symmetric world

Climate response in the Southern Hemisphere in (A) and (C) are different.

This difference in climate response (bias) is caused due to the different land distribution in the
Northern Hemisphere in experiments (A) and (C).

» Thus, LHBsoyrh-nemiserere = Climate response of SH in (A) —climate response of SH in (C)
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2) Now, if we try using North-symmetric world to calculate the bias in SH: SH is different!
LK Lk Hence cannot be

used to calculate the
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From the above, it should be clear why we cannot use Noﬁ%igymmetric model to calculate the bias
for Southern Hemisphere.



